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PART : PHYSICS
1. Which of the lollowing reaction is correct |

(1)en’ >1p" 4 f°4 v (2)en® »1p' 4+ pfav
(3)p' »en’ s fi®s v {@en' »1p' 4 affa v
Ans. (1)

Sol. ;N |p' 4 --.p': ’ :

2 The gagh Detween ool Mean square speed with the abeolule emperature will be .

Ve Vore
(1) (2)
>T >T
vrPl. vm‘
(3) (4)
» T s
Ans. (2)
BRT

Sd. vﬂ-ii;— == VM:T"z

3. A uniform wire of inear charge density & is placed along y-axis. The locus of equipotent:

(1) x* + ¥ » 2% = conslant (2) 7 + 2 = constant

(3) xyz = constant (4) xy + yz + x2 = CONStant
Ans. (2)
Sol.

T *| coupolential surtace
15
X
- ok e
- iy .

locus of equipolential surtace will be cylinder in x - 2 plane
X7 4 27 - constant
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4. Find the equivalent resistance across A and B.

A c "."'."' “"‘J “ i l U ' v h c B

R3 R3 R3

(1)R (2) RB (3) RS (4) R'9
Ans. (4)
Sol. Al three resisiance n parallel
A Vbl
R, B; R: Ry
Ao B AN B

A B
R3

RS o)
Ry R'A'R

g 33
1 SIS
e SR
AR R R R
1 9
A. R
AR
Ae 9

5.  Twodisc of radius R and 2R having moment of Inertia §; & I; respectively about centre ol di
mMnMnuuﬁWGNMmeﬁmQﬁMmlHq.
2

1

(3) ;

1
2 "3

1
(2

1
(1) 2

16
Ans. (1)

e 2
Sol. I = MR« Zx[RiphA]

to = SWRE - «leRip)d

_|'ﬁ‘|'- Lo
Ha |

o K
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6. In the diagram, the circuit of logic gate & shown.
i Ry

J
(1) } (2) } @J_E (&) '—5:
Ans. (1)
Sol.
N A.B

A ) | BiAB
AB:sB )= A

B A.B 3 )

—L_:}m.x

7. A coin placed a the boliom of a hemispherical comainer lilled with  liquid of relractive index . Find the
least relractive index il the coin is visble 10 an obsérver al £

(1) V3 (2) {2 @) —}5 @ 22
Vv

s &N = 1 x &in 9i

v

“v2

sinfd  sndst

8. In YOSE experiment when ight of wavelength 4, = 660 nmis uged, 10 maxima are obearved al a dslance
10 men from geometrical centre, Now if fght of wavelength % = 600 i & used then Find which order
maxima is located at the same point
(1)9 (2} 10 (3) 11 (4) 15

Ans. (3)
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Sol. y-10ﬁ-10-%

Nk = Mehs
10« 660

—————— - n,

600
=11

9. Statement -1 : Work done by cenlral larce is independent of path
Statement -2 : Potential enargy does not associated with every lorce.
(1) Statement-1is True, Statement-2 is True, Stalement-2 is a coract explanation for Statement-1.
(2} Statement-1 is True, Stalement-2 is True, Stalement-2 is NOT a comect éxplanation for Stalement-1
(3) Statement-1 is True, Statement-2 is False
(4) Statement-1 is False, Statement-2 is True
Ans. (2)
Sol.  Walch Video Solution

10.  In the given ligure, the sguare and the Iriangle have same résisiance per und lengih. Find he ratio ol
thesir resistance about agacent comears as shown

square

A ad B

27 8
U @ 3 (3)
Ans. (2)
Sol.  Resistance peér unil length - .
22
4 4/

11, The iength of sheet is / = 5 mm, width © = 2.5 mm, measwed by srew gauge. Number of divigion on
circular scale is 15 and pitch ig 0.75 mm. I fractional eror in calcutaton of area of rectangular sheet is
X
-136 ind x
Ans. 03.00
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Sol. LC« E - F = 05mm
Awlxbh
M AN A
A f b
005 005
5 25
1 "1.i: _|’ 3

"0 | 25/ " 300,

12. Asimple:amunolmassmandlergmlisgwmadwgeoq.andmsplamdmamomhaizmw
surtace. A uailom eleciric fiekd E is applied & shown inthe figure. If the pendulum i€ released from res,

ils maximum speed during subsequence motion wil be |
u=0m2
A - E
B0 ;
AW’?
g s gt
GE 2 IE (Ef
(1) J (2}‘l = (3)‘% m\m
Ans. (1)
Sol. Vime?
W = AKE
QE/(1 - 608 607 = Z',mv2
gE! _mV*
2 2
A
Ve lﬂ Ans.
'm

13, The refractive index of lwo prism are respectively 1.54 and 1.72. The prism angle of frst pris is 42 1
the total deviation is 2ef0, then the prism angle of the second prism will be |
(1) 2 (2) 3 (3)5° @

Ans. (2)

Sol. Ba(u-1)A - (ig-1)As=D
4154 -1)~ (172 1) Az =

4x0.54 Ao

o
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[ Moduluso! elasticity
L Torque

(1)c=0 (2)c=1 (3} ¢ =1 d)c=2

Ans. (1)

Sol. Elasticity = [M'L-'T]

Torgue = [M'LET-]

[ML*T %)
M'LT#)

[MOL-3T0] = [MBL-T]

t=0

14.

= [MLT7 Find the vake ol ¢.

- IMLTY

15.  Two capacilor are charged with same batlery. Il graph batween charge & ime shown in figure than lind
correct oplion

llq

[+

*1
(1) 2>t Uz U Rl@«<o Uz > Ul
(3} €2 « € Uz « U1 @@= Uz < Uz

Uz > Uy Ans.

16. A proton of mass m; has the same engrgy as & photon and wavelength A. the ralio ol the De-Broglie
wavelength ol the peoton and the wavelength of the photon will be .
1(E 1 [E 1 [E 1 [E
(1) = e 2 N-z_n: 3 Zym, (4) %\Zm,
Ans.  (2)

-

. ne omE
Sol. Forproton E - m »p= JomE

P
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17.  Find centre of mass ol rectangular plate of mass densily o = i;%' i§
2 b 22 ab 22
1) == 2 == == 4y ==
”82 “33 (3)22 ()33
Ans. (1)
Sol.
‘
: ax
-
b
S
‘o .
X
-—2 —

18.  Theveisa smooth ring of radius R in vertical plane. A spring of natural length R and elastic constant K is
vertical across along a diameler. The ree end is connacted 10 baad of mass m and when sightly dislurbed
it reaches point C with speed Vis ?

kntl2 1)~ 2mgR (272 -1} 2mgR
(1) “' () \
m m
. ‘:ZKR"'QZ-!iong " Kkr*h/2 ~1)- mgR
3 m V m

Ans. (2)

Sol. Inilial elongation - R
Final elongation = (/2 1)t
lrom engegy consarvalion
AU = AK - 1)

%K{ RE [z - 1)Rf] + MR - %"’/ ?

2 P~ ;
'% (i-2:+ 22 -1 2R - v*

KR | -
-q" o -
v Tor (/2 -1)+ 2R

\2KA*W2 -1} 2mgR
-}

v
{ m
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The lirst eleciromagnatic waves given by E1 = 100 sinfk - «f) is propagating axally in a cylinder ¢
100 cm and diameter D. Second electromagnetic = giso propagating i a cylinder of same ler
having a diameter D/2. the aquation of the second alecromagnetic wave should be |

(1) E2 = 200 sinfkx - el) (2) E2 = 50 sin(kx - i)
(3) E2 = 400 &infkx - «l) (4) E2 = 25 sin(kx - )
(1)

Walch Video Solution

Ey» 273K 3T3Kk -,

Ez»3T3KW047T3K > 2

Ei» 273K 473K > m

Find relation in efficiency of above engine work on Camat cyde.

(1) < mrone 2) mp 2t e

(3) Wa=mene (@) 1 =1 2

(1)

Walch Video Solution

Which of the following siatesnent & lalse.

(1) I lemperature of Iquid increases than viscosity increases.

(2) Il emperature of gas increases than viscosily increases,

(3) Surlace energy of surlace molacule is greater than molecule nside liquid.
(4) Bulk modulug of gas depends on process.

(1)

Walch Video Solution
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